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Question Number : 1 Question Id : 4771877338 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement regarding growth, development and

maturity of the child
_é{ﬁjﬁidfughli:. Iy iﬁﬂljflyrﬁjjﬁ Jé.

Options :

Development refers to growth as well as behavioural changes

AE b eSS 2Ll pe Sa

Growth refers to structural and psvchological changes

ujug.gélﬁ'm?w/;mﬁ
2.

Biological and environmental factors influence development

G sa i N QUs s del

3. %

Maturation refers to the emergence of an organism’s genetic potential

e beotaluie Sty re B



Question Number : 2 Question Id : 4771877339 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under Last-B

_u:filr:.uiijfé-'d;l,_%iufiﬁ'__-mji Bwjrfawif.bf:ﬁiﬁ__-mji Aerd

List- A List—B
Acrj B 4
(Development ) (Theme)
) (Ers)
A)  Erikson's Psycho-Social i)  Dependson concrete and abstract
Development thinking abilities

g m e 4u'ﬁ*wd/£rdaxfﬂuﬁ
b‘;ﬁﬁk’d_@w’fgl 3 ) 7

B) Piaget’s Cognitive Development ii) Depends on experiential learning
= . rd o < E -
HEROIIEED P Py

C) Carl Roger’'s Self Development iii) Depends on universal ethical

principles

.:‘:_/“’V{J:‘Id"ﬂalcdulir

iv) Depends on the result of child

e 5L et/ (§ AL JJ?JJ. uJK

interaction with hissocial

environment
ELS A LI L
¢ ¢
Choose the correct one
K12l

Options :

A-11, B-iv, C-11
1. ®

A-1, B-n, C-11
2. %



A-iv, B-i,C-1
3. ¢

A-iii, B-iv, C-1
4, %

Question Number : 3 Question Id : 4771877340 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Erik Erickson’s ‘Peycho-Social Development Theory’, a student of

Class [X1s1n this stage of crisis

et L M IR £ B L P G- QI L S S

Options :
Imitiative Vs Gult
. (A Kol
Industry Vs Inferiority

TS A M e

2. %
Autonomy Vs Shame
. AL MBS 8
3.

Role Identity Vs Role confusion

P A Lol



Question Number : 4 Question Id : 4771877341 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the external factor, that influences Child
Development
—a b b2 gisE Susag SGsE SN G Ui

Options :

Physical environment

Jag?
1.

Hormones
2. % S

Intelligence
- =L 3

Emotional maturity

Folie



Question Number : 5 Question Id : 4771877342 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following identify those that are more helpful to teacher to provide

adequate learning experiences for every learner according to thier individuality
el F AT e ALl P ILH‘ etz S S EE S S 5 s
_%-,':;ﬂﬁué. Z.H.../'/(TI/

A) Ability grouping

J .-C:.u/r L,(:{lgl

B) Adjusting the curriculum
LS e
C) Adjusting the methods of teaching
IV 5
D) Proper knowledge of the individual's potentialities

H‘éjguﬁﬂ-ﬂJ:)

Choose the correct one:

L5zl

Options :
ABCD
1. v
A, C,Donly
5 % D.C:A_i #
B,C, Donly
DCB_i ~
3. %
A, B, Conly
CB:A_i~

4, %



Question Number : 6 Question Id : 4771877343 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Saritha, a 12 years’ age girl, appeared and completed ‘Intermediate’ with A+
grade. This reflects that her

et S SIS A LS Mriiie SN2 L

Options :

Chronological age is greater than Mental age

L% _r‘;_,uya./d"'j/fd-ﬁ

Mental age 1s less than Chronological age

ela fU A5

2. %
Mental age 1s greater than Chronological age
eolic f u"lp AUt

3. ¢

No relation between Chronological and Mental age

NG IR PN



Question Number : 7 Question Id : 4771877344 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking
EeC SS1 LerdF 1817
Options :

Preparation, Verification, Incubation, Illumination

L;”.Af'}‘t;,‘é/}/jf&'#irfdig

1. %

Preparation, Incubation, [llumination, Verification

&:Aﬁf . *F.J.fdrl:;,;i,u;rd;g
2.9

Verification, Preparation. Incubation, [llumination

sl S S d 42

3. %

Preparation, llumination, Incubation, Verification

G4 el peipse§ 42

4. %

: Yes Display



Question Number : 8 Question Id : 4771877345 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example for primary reinforcement

U Jed S Qi s

Options :
Food
| %

1. %
Sleep
s

2. #
Water
'.lL

3. % i
Praise

iy

4.



Question Number : 9 Question Id : 4771877346 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As a teacher, which test do vou use to assess the aptitude of vour students?
S et s i wow B
st gL Lotk & S 1l i

Options :

Thematic Apperception Test

Sy N

1. ®
Army Alpha tests
AT
2. %
Raven’s Coloured Progressive Matrices
F i
TR s g AL
3. %

Finger Dexterity tests

eIy P

4.9



Question Number : 10 Question Id : 4771877347 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

With respect to nature of the Head of the school, which among the following lead

to maladjustment, criticism among teachers and students?
F el upnd Lopiet§ofSdic Lirl et IS,/ LJ&
B O -t

Options :

Social adaptability and maturity

ﬁjﬂ:ﬁiifﬁi‘

1. %
Participative leadership
s,

2. % )
Authoritarian leadership
_*'.f:_lf;rl /T

3. ¢

Self-confidence and positive approach

ﬁﬁ;@;s!d;l}?!;f
4. %



Question Number : 11 Question Id : 4771877348 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which method 1s more applicable to guide the student, who 1s facing the problems

like aggressiveness, anxiety, shyness, temper tantrums and poor academic

performance?
LJJL‘;;!.Jr(}f__;f/@uqu’fuﬁgﬁb@'dﬁ'”k-}é— LL}‘-‘?"JH‘ -V
PPN Tt
Options

Cross- sectional method

IS

1. %
Case Study method
368 -ﬁ"uﬂ/
2.
Cumulative marks record
5 J@JEUJ / (ﬁ !f
3. %

Introspection method

-

Jva,&t&*



Question Number : 12 Question Id : 4771877349 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to ‘Piaget’s Cognitive Development Theory’, the child exhibits this at

Pre-Operational stage

e Qb St ,SES G L E Sl

Options :
Logical thinking
erd
1. %
Conservation
%33
2. %
Problem solving ability
3. %

Egocentrism

:-:-:"1"}.‘!‘7‘
4.9



Question Number : 13 Question Id : 4771877350 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes in behaviour of an individual that occur by one of the following

factors does NOT fall in the category of learning

_JTufutx_ﬁi__;L:ﬂ”.;.Jx{%&}}ug;ﬁ:..;;JJnfLJ,ﬁui‘a,ui;)u'(

Options :

Changes due to practice

JLEN ;.,._:-;J Jp

1. %
Changes due to experience
WML e 23 f
2. %
Changes due to training
f -
ugi S T Y
3. %

Changes due to maturation

u%é’;eﬁd’ﬁ

4.



Question Number : 14 Question Id : 4771877351 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intelligence theory

List- A List—B
A B~
(Intelligence) (Association )
(=49 ()
A) Spatialintelligence i)  Social smart
=AsdE
-
;_&IJ 2 s
B) Interpersonalintelligence ii) Picturesmart
A ST I
C) Intrapersonalintelligence iii) Selfsmart

:Jgjujg_fu eS8

Choose the correct one
a-rerc

Options :
A-11, B-1,C-11
1. ®

A-1,B-11,C-m
2. %

A-ii, B-1, C-iii
3. ¢

A-in, B-i1,C-1
4, %



Question Number : 15 Question Id : 4771877352 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT pair among the following
S EW ke St

Options :

Ihfferential Aptitude Test - Wechsler

P3P

1. v

Equally Appearing Interval Rating Scale — Thurstone

J_;-yi_.@zjﬁﬂlji.ﬁﬁlg,;;ﬁdbg

2. %
Client Centred Approach - Carl Rogers
T2 PSS p Il il

3. %

Thematic Apperception Test - Murray & Morgan

u”ih}l;./-é@(ﬁﬂkjk!&:‘
4. %



Question Number : 16 Question Id : 4771877353 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following theory is related to cognitive learning?
. |l - r
e P e ATl

Options :

Learning by Insight

ey

1.¢
Learning by Conditioning
iy S
2. %
Learning by Trial and Error
- L1653
3. %
Imprinting

4P

-

4, %



Question Number : 17 Question Id : 4771877354 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“An individual onece conditioned to respond to a specific stimulus is made to
respond in the same way in response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning

JF A5 S JJLFHU:"?—L"/C?LEJ! S LREEL TS L.:‘J:Lr-,f'}ﬁvg
ce IS SUrPINL by P S hamie pssir e b A S22 L

Options :
Extinetion
Sasa

1. ®

Spontaneous recovery

Gt 2

Stimulus generalisation

SFE

3.

Stimulus discrimination

JSASI



Question Number : 18 Question Id : 4771877355 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in thelr mind for

seeking maximum positive transfer of learning.

_KYW/JJQ")LJ}(/Q ,Eﬂ"l.,,'li.H_.JVMBJLJLMLJJ_‘L-IJGLJJJV‘LV

Identification of associations, similarities and dissimilarities

among the learning situations

=3l el Lty

B. Developing proper ideals and imbibing them to perform thingsin

future
IS gl L st K S s S S
C. Building generalisations and making their use in further learning

S W T4 ;f-.f,-U:@‘ Sers?

Choose the correct one

gzl

Options :

A, Conly

CA~
1. #

B, Conly

CBJ~

2. %

Aonly

Al
3. %

ABC



Question Number : 19 Question Id : 4771877356 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following which one comprises of personal events and experiences

associated with one’s life

-q...dﬁul}",;:.-gful:;@bLEI}:A!J»;.JJJJJ;;Q/_{F;J:J_}

Note: For this question, discrepancy is found in
question/answer. Full Marks 1s being awarded to all

candidates.
Options :

Rote memory

-~ &
:..aﬁbkdﬁdj

. .
Semantic memory

Sl

2.
Short-term memory
3 ngjxdf“

3.

Sensory memory

Bl



Question Number : 20 Question Id : 4771877357 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the techniques that may help the teacher to sustain motivation among

students in the classroom

_UKL/GAJH'V L)':'é(:ubj{fifujk-‘ﬂi.flbu::aﬂﬂa./ﬁh{;ﬁﬁiﬂlfu:‘;fu!

A. Reward and Punishment

F'l’}" Jalels?

B. Success and Failure
QS luadle¥

C. Level of Aspiration

5«5 JUs

D. (Child Centred Education

r‘-giffﬁ

Choose the correct one

Lbwizt

Options :
ABCD
1.+
B,C, Donly
DCB_ ~
2. %
A C,Donly
DCAL~
3. %
B,Conly
CBi~



Question Number : 21 Question Id : 4771877358 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage of learnt material forgotten immediately after 20 minutes as per

the Ebbinghaus experiment

e s o5 L2060 L Nor Lo £ S

Options :

47%
2. ¢

79%
3. %

75%



Question Number : 22 Question Id : 4771877359 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson due
to fatigue. The Thorndike's law of learning that is NOT followed by the teacher

hereis
;..g;d/:.dh-ﬂ?.‘ﬁ;qﬁklﬂg&'f’:izié&;{?&ﬁéI..J_./U’;;.T‘-L.a}f_.;w
_Jufd;,g,Jc,liﬁ'duﬂgli.@jwﬁi_:uu;ﬁ_iﬁbﬁ"j“

Options :
Law of use
JE1 96
1. #
Law of readiness
SAise
2.
Law of disuse
Je1r 56
3. %
Law of effect
POl

4. %



Question Number : 23 Question Id : 4771877360 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT support the concept of Vygotsky's
Constructivist Theory

S e LGP L Py S e

Options :

Social interactions are basis to higher order mental processes

eSS IS Fuge

1. %
Cultural factors influence cognitive development
i b ghs® S s B
2. %
Learning is the product of association between stimulus and responses
;J‘EKJ’J uy;}ifum.(/h_:m
3.

Language plays a vital role in cognitive development

%-_S/I;ui;/'}”siurﬂ} - Jf.ulcjl,}

4. %



Question Number : 24 Question Id : 4771877361 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom
e JCES stttz S LA b

A Socially disadvantaged children

Zesiled (b B
B. Physically disabled children

éz}b’{,ﬂl’ Gl
C. Academically differentiated children

D. Mentally exceptional children
N IR
Choose the correct one
E_gKo12E
Options :

A, B, Conly

CB:A_i~
1. %

B,C, Donly

D:CB_ ~
2. %

A, C,Donly

DKCKA...;/‘
3.8

ABCD

4.



Question Number : 25 Question Id : 4771877362 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this model of inclusive education, the specially trained teacher moves from one

school to another and assists the differently abled children
i sle oS U1 ase JFILIA el 0 5 AL A,
_.:;:..t‘;r;.k Ju Jfﬂ.h‘
Options :

[tinerant teaching model

Jiusoar Ak
1. ¢

Resource model

J3 Lui*'ftf,-

2. %
Distance learning model
JHEE Qi

3. %

Dual teaching model

dfl.u'j;ﬁ Y2l



Question Number : 26 Question Id : 4771877363 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT reflect the concept of self-concept

e oGSt Lo i i S 3

Options :

Self-concept 18 the image of oneself

o« AE5P 268
1. #
Real self-concept reflects one’s actual perception of oneself
-;.t‘/dﬁﬁ J;y""&-ﬂ?ifﬁgxt L:;"’J}*”"n?);"‘;g
2. %
Differential Aptitude Tests measure the gap between real self and ideal
self
L,EL/L?E,JJ};JQ‘JJL:fd@;sld}ﬁ(}?ﬁdﬁhﬁfp
3. ¢

Ideal self-concept reflects the perception of what one should be

%L";[f{ﬁJgrjuflf;.'gl:ﬁgffd{d‘jb@ﬁdﬁ‘

4. %



Question Number : 27 Question Id : 4771877364 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following method is suitable for teacher centric learning
Uy L__,LZ'J'U;(/("‘ Sl SuB LS
Options :

Brain storming

G35% S s

1. %
Demonstrations
& b

v 7
Discussions
sy

3. %

Project works

Kl

4. %



Question Number : 28 Question Id : 4771877365 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students

e 3 uElsp Lt Lo AT da

A) Group processing

AL

=
Y iE L,‘:E 2/
B) Individual accountability

LIS P

C) Face to face interactions
ezeleled

D) Positive interdependence

M b

Choose the correct one

-y

Options :

A, B, Donly

D:B:A_: ~
1. ®

A B Conly

CB:A_i~
2.

B.C, Donly

D:C-BJ ~
3. %

ABCD

4.



Question Number : 29 Question Id : 4771877366 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to this section of Right of Children to Free and Compulsory Education
(RTE) Act-2009, ‘No child shall be subjected to physical punishment or mental

harassment’
A A e O LPE N L2009 (NG LA Gtses Lz
K E?,L.IU{L)L"L’E'LSTE},

Options :

Section-17

17-75

1.¢
Section-16

2. % 16_9#?
Section-19
19-€

3. %

Section-18

18-75



Question Number : 30 Question Id : 4771877367 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A teacher who got irritated by the comments of Headmaster showed her anger on

students in the classroom. This 1s an example for this defense mechanism

JK:EJ"/‘I"‘; E;fcch?J!:y’ﬁlE.a}U;l/vqbuﬂ () Lﬁ_/_;?f,{:u;’ut.f_wﬁi_;fm

Options :
Rationalisation
29er/y

1. %

Displacement
[
2.
Projection
=07
gl = 2y

3. %
Compensation
e B

4.%

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Language I Urdu

477187233
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Question Id : 4771877368 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

Jf._,m'f‘" LetrZL e simeye i e YL(EF Wouutds 31-35
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Sub questions

Question Number : 31 Question Id : 4771877369 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
S Ll
Options :

Sl il e

1.

ity
2. ®

BRASIL
3.¢

el K._*ub?t'g &



Question Number : 32 Question Id : 4771877370 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e bt /YR 29 AL

Options :
F"’ *
Ul 2 s |
(T T
T i it TN
Ay T AN o
2. %
U/ 4 s 0
3.8

L‘J’li:ﬁ;r{:fl#lﬁ'ﬂxsl:«y_f%.l
4.9

Question Number : 33 Question Id : 4771877371 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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_.f_j_.igti,dy E}gu’f! Loty 3
Options :
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3. %
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Question Number : 34 Question Id : 4771877372 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :



yU¥

1. ¢
k;;ﬁl_ﬁ
2. %
bl
3. %
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4. %

Question Number : 35 Question Id : 4771877373 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
-@,gdxu!wfd;bﬁ';ﬁ;;ﬁ“f??"
Options :
S AL i L S
L. “/r’bf:{_jjfj&.uij

1. %

L e

2.

Laa” e o
3. ¢

-~ -~
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4, % '
Sub-Section Number : 2
Sub-Section Id : 477187371

Question Shuffling Allowed : Yes



Question Id : 4771877374 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)
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Sub questions

Question Number : 36 Question Id : 4771877375 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T
w2 2l FE
Options :

1. #®



Question Number : 37 Question Id : 4771877376 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 38 Question Id : 4771877377 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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3.¢
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Question Number : 39 Question Id : 4771877378 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
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Options :
-\

Question Number : 40 Question Id : 4771877379 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

Ji/ablacs?
1. %

L,(L-);[}Jij}(h_-’}.;

4.9

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

: MCQ Option Shuffling : Yes Display

477187372



Question Number : 41 Question Id : 4771877380 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
-c.:,gpf‘Lsﬁzf”uf:IxﬂlH‘

Options :

209

1. =

210

2. %

211

3.¢

212

4. %

Question Number : 42 Question Id : 4771877381 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

-u.’?:f:‘? 'JWJ—L*:L_J.J J"‘) uuu:@:i?ﬁ’ [

Options :
- .I E"; 3
Lo GOy
UPId
2. %
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Question Number : 43 Question Id : 4771877382 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
~ - | -~ i s
. JW!E&’W e L.é'.:.!;u::.—l.:&: —ik? s

Options :

3.¢

13 a2

Question Number : 44 Question Id : 4771877383 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

GUSIL” LIl £ F 1

—e S
Options :
Lt B
1. v
At
e

RO P



Question Number : 45 Question Id : 4771877384 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A YR
';—'-lf’:-/gr/g’hf:ﬁ:-ﬂ%
_@:@Iﬁ"u‘(y‘“’ L E_ A dﬁ;i/":UL 019 i
Options :

P

1. ®

4.9

Question Number : 46 Question Id : 4771877385 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
- I‘f ..-r"I ik 7 T 3 i
_u;r.f_*-f;iﬁpu.mfu I# st 1 ,,JI_:L#r"fd: S
Options :
YO
1. %
Slel=ll
2.9

$7eM
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Question Number : 47 Question Id : 4771877386 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A e d i w1 B S

Options :

f -7
%

L.

e by 7
2. %

g = P
%

3.

L u UF7

Question Number : 48 Question Id : 4771877387 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e QU A LI E ARl S PSS o

Options :

1 % 044
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2. %
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Question Number : 49 Question Id : 4771877388 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
l.tL- UF"?ML'{&P |l'j{
Options :

I8 P

1.

, % S Aol 21
- O I
» Srar” i

Question Number : 50 Question Id : 4771877389 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
r AN 5]
-g..ﬁdlﬁ'd_-;..;!/(d“.._;r'i‘fz

Options :

|3 dd& 45
v PP

) S S 6%

2.

o UelieT e e el
3. %
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Question Number : 51 Question Id : 4771877390 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
W ] JJJQ’EIQ{’J?;LEJ:E?LJU
-G L

Options :

2.¢ v
Slal®
3, %

Question Number : 52 Question Id : 4771877391 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
_esae i Pt S e nd:1945002/17
Options :

1 % "'.C**‘bl‘——"")/ju.f

5 % Lf,ﬂ,lé.j:?

3 o E';F'/H!'L;"b

L S 1



Question Number : 53 Question Id : 4771877392 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

- = . - ~ .
_..'L:_C'KJL**‘"#";l- i;ﬁfu%k;}ugd L_‘J'l::i,.rﬁ/:ﬁ&!
Options :

1. = /:F"/:‘i

2. ’l‘vp‘“ﬂ;
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-
3. % ¥ /:i
) ,-ftﬁn':v*'ﬁ‘:;
4% *

Question Number : 54 Question Id : 4771877393 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
!'."J

M 37 T

Options :
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Question Number : 55 Question Id : 4771877394 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
; : i o T L o
_;;.L,':J:’n:y;..__.f.g_)’ﬁgilruf é.f_.u-;}dfh’

Options :
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2. %
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4, %

Question Number : 56 Question Id : 4771877395 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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o
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Question Number : 57 Question Id : 4771877396 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
_;L:.Jﬁfgldjb‘ 5

Options :
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Question Number : 58 Question Id : 4771877397 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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—c bl F Mo 3E AF A
Options :
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Question Number : 59 Question Id : 4771877398 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 60 Question Id : 4771877399 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
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Language II English

Section Id : 477187234
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26



Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

26

30

0

1
477187373
Yes



Question Id : 4771877400 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of society, the saviours of the nation, and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771877401 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 1z

their
Options :

wealth and power.

1. %
Western education.
2. ®
association with Mahatma Gandha.
3.¢
“ positions in the British government.
4,

Question Number : 62 Question Id : 4771877402 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What era 1s mainly discussed in the passage?
Options :

Pre-independence era
1.

Mughal-era

2. ®

Post-independence era
3. %

Modern era
4.%

Question Number : 63 Question Id : 4771877403 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?
Options :

Piousness
1. #

Deceitfulness
2.«

Hard work

High moral standards

Question Number : 64 Question Id : 4771877404 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the expression 'leaders of the yore' refer to in the passage?

Options :



Leaders from foreign countries

1. ®

Leaders during the pre-independence era
2.

Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4.%

Question Number : 65 Question Id : 4771877405 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. ®

Only their personal freedom

Their future generations
3. %

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187374
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771877406 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the option that correctly sequences the following sentences.
A) He apologized sincerely for being rude.
B) Later. he felt guilty about his behavipur.
C) During the meeting. Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

ECB.ATD

C.E.B.A D
2.

B.C.E, A, D

C.E.D.AB



Question Number : 67 Question Id : 4771877407 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.

Options :

v Only the Sentence A is correct.
1.

Only the Sentence B 1= correct.

Both the Sentences A and B are correct.
3. %

Both the Sentences A and B are not correct.
4. %

Question Number : 68 Question Id : 4771877408 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Despite being outsider, she was elected as chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

amn, a
1. %

the, the
2. ®

a, the

an. the
4.«



Question Number : 69 Question Id : 4771877409 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. ®

frightend
2. ®

frighteaned
3. %

frightened
4. 7

Question Number : 70 Question Id : 4771877410 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle™.

Options :

L

h
3.9



Question Number : 71 Question Id : 4771877411 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the meaningful sentence.

Options :

What they expected was to begin at six the performance.

” What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4.%

Question Number : 72 Question Id : 4771877412 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven’t turned up yet.

Choose the correct option to complete the sentence.

Options :

get gver
1. %
sent off
2.
finds out
3.
glve in

4. %



Question Number : 73 Question Id : 4771877413 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :

D
1. #®

Question Number : 74 Question Id : 4771877414 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1.

He asked her why didn’t she inform him about the change in schedule.

He asked her why she did not inform him about the change in schedule?

He asked her why has she not informed him about the changed

aschedule.



Question Number : 75 Question Id : 4771877415 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

He never actz so rudely, ?

Choose the correct option to complete the sentence.

Options :

" don't he

does he
2.

doesn’t he

did he
4.%

Question Number : 76 Question Id : 4771877416 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon'.

Options :

phenomenas

phenomena

phenomenon

phenomenae



Question Number : 77 Question Id : 4771877417 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT sentence.

Options :

When she entered the room. evervone was talking loudly.
1. %

While he was watching TV, the phone rang.

After she finished the exam, she goes to the canteen.
3.¢

By the time we arrived, the guests had already left.
4.%

Question Number : 78 Question Id : 4771877418 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She visits her hometown once 1in a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very rarely
1.¢¥

day by day
2. %

day after day
3. %

regularly
4.%



Question Number : 79 Question Id : 4771877419 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?

Options :

The men have been exhausted with the hard work.

1. #
The men are exhausted with the hard work.
2. ®
The men had been exhausted with the hard work.
3. %
The men were exhausted with the hard work.
4.«

Question Number : 80 Question Id : 4771877420 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite seripus.

I

I have been quit serious.

I was quite serious.
3. %

I had been quite serious.
4. %



Question Number : 81 Question Id : 4771877421 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There was a lot of conflict between him and her.
Identify the antonym for the word "conflict”.
Options :

dispute
1. %

quarrel
2. %

frietion
3. %

agreement
4.9

Question Number : 82 Question Id : 4771877422 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. #

on
2. %

by
3. ¢

off



Question Number : 83 Question Id : 4771877423 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At this juncture, it is impossible to say whether she will make a full recovery
or not.

Here the word “impossible” is a/an

Options :

% verb
adjective
2. ¢
noun
3. %
adverb
4. %

Question Number : 84 Question Id : 4771877424 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

=
L% who
whose
2. ®
whom
which

4.



Question Number : 85 Question Id : 4771877425 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW gkills in

Communicative Language Teaching (CLTJ?

Options :

Practicing grammar rules in isolation
1. %

Developing language skills independently

" Using real-life contexts to enhance language skills
3.

Relying only on writing assignments
4. %

Question Number : 86 Question Id : 4771877426 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.

1. %

An approach 1s a set of classroom activities.
2. ®

A method 1s the theoretical basis, while an approach is its application.
3. %

An approach 1s a theoretical viewpoint; a method is a practical plan for

implementation.
4,



Question Number : 87 Question Id : 4771877427 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which activity helps best in reinforcing vocabulary in young learners?
Options :

Dictation
1. %

Grammar drills

3 Word games and picture associations

Writing reports on vocabulary
4. %

Question Number : 88 Question Id : 4771877428 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“During a courtroom trial, a juror listens to the defence attorney’s argument
to judge 1ts logic and truth.” This type of listening i1s known as

Options :

Selective Listening

1. #

Discriminative Listening
2. ®

Critical Listening
3. ¢

Appreciative Listening
4.%



Question Number : 89 Question Id : 4771877429 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT ) 1s
Options :

to pass or fail the students based on their performance.

1. ®
to 1identify the learning difficulties of the students and 1improve
teaching.

2. ¢
to rank students among other competitors.

3. %

to complete the syllabus and prepare the students for the next class.
4.%

Question Number : 90 Question Id : 4771877430 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A psycholinguistic barrier in learning English refers to the
Options :

lack of playground.
1. ®

poor classroom seating.
2. ®

o fear of making mistakes.
3. %

familiarity with foreign culture.

4. %

Mathematics
Section Id : 477187235
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 30

: Yes Display

: Yes Display



Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187375
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771877431 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the mean of the frequency distribution is 59.3 and } f;x; = 1429 + &, } f; = 30, then

the valueof 'k’ 1s

S5 E TS, = 300 Tfix, = 1429 + k #1593 bl So
Options :
350

1Lv
, % 300

. 250

200



Question Number : 92 Question Id : 4771877432 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IfsecO +tanB = V3 and0 < 8 < 90", thencos® =

cosB =0 < 6 < 90 .sisecH + tanB = w@/ﬁ
Options :

2

V3

r | =

3.¢

=
il =



Question Number : 93 Question Id : 4771877433 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A and B are any two finite sets such that n(A U B) = n(A) + n(B) , then choose the

correct relation between the sets A and B.
FE;J_Q-‘;JLB;:I Acr s n(AUB) =n(A) +n(B) IC/LJFL{,?JWJIL:;JJLE:{BAI A

B
Options :

A and B are equal sets

ST Bsl~BasA

1. ®

Aissubsetof B

el =fEBECA
2. 8%

Bissubsetof A

3 % %&JKA#B

A and B are disjoint sets

JHoraf S F BaIA
4.9



Question Number : 94 Question Id : 4771877434 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The coordinates of the point which divides the line segment joining the points (—6, 10)
and (3, —8) in the ratio 2 : 7 internally lies in the quadrant

LB S b2 1008 o B L1 1bd (3,—8) s1(—6,10) b5
-Tf;l:ﬁ@l,-
Options :
Quadrant I

Culkg
1. %

Quadrant I1

CJ;JF/,':
2.

Quadrant III

Ca~

Quadrant [V

@JLﬁ?}z
4. %



Question Number : 95 Question Id : 4771877435 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

0. 65 = E, where p and g are co-primes, thenq — p =

3 P—— =
4—8= FUbsb A A quipUz0.65 = %,l |
Options :
L% 12
5 % 24
Z5
3. %
4. 34

Question Number : 96 Question Id : 4771877436 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose an inconsistent pair of inear equations from the following.
- s 2 " I
_ﬂj_ﬁ’:@:’..i-rlr"/;‘ ;Jﬂiu:‘iﬁw{f}d:g;ﬁ
Options :

X+ 2v+2=03x—6y—2=10

1. %

5x —3y=—-11,—-15x+ 9y = —33
2.¢

3x+4y =119+ 12y =33
3. %

By 2y—n o8 £ 10710
X :
4. %



Question Number : 97 Question Id : 4771877437 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Two dice are tossed simultaneously, then the probability that the sum of the numbers

appearing on the top of the dice is a prime number 1s

_?urggi.ﬁ}ﬁ;/b,ﬁffﬂlﬁiuwlp.;ﬁd{;liu;—jg__;.ﬁ:,yﬂﬂaﬁ:';-?}_{ffbr{gn

Options :
13
L% 36
7
2. % 1%
5
12
3. ¢
11
36
4. %

Question Number : 98 Question Id : 4771877438 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ifsin ® + cosec O = 2 .thensin® 8 + cosec® @ =

F
sin® @ + cosec®d =~ sin6 + cosech =2 /|
Options :

2
1. v

14
4. %



Question Number : 99 Question Id : 4771877439 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: e ; : 3
The time taken for 4800 amount to #5556, if simple interest 1s calculated at 6 ;% per

annum is
_;_f,(jﬁ%.}.xSSSﬁuﬂ:m L??;Ju.ﬁu%‘gﬂﬂc.;/a’;rﬁ,;;ﬂwi ;%

Options :

2 years 3 months

:d‘.'c,fdlru

2 yvears 4 months

'ﬁ’.'JLgJLf::

Ty

2.

2 vears 6 months

équdb’}}

3. %

2 yvears & months

:;'JUVJ:

4, %



Question Number : 100 Question Id : 4771877440 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
12x " Sy4z73

D1, e R -

Options :
5

Sy?zﬁ

4}r?zﬁ

5x7

) B
e,
= =
S’

=1

4y 7
5x7z®

Question Number : 101 Question Id : 4771877441 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of factorsof 4560 1s
—e IS8 P11 L4560
Options :

20



Question Number : 102 Question Id : 4771877442 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The compound ratioof 2: 3and 9: 161is equal to x : 64, then the value of ‘x" 1s
s “"; ] i - j .I"‘- {‘- A
B VUL —aX : 6der s 09:16.812:3

Options :

4.9

Question Number : 103 Question Id : 4771877443 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From a circular thick paper of radius 20em, a sector with angle 216 is cut out and its

bounding radii are bent to form a cone, then the height of the cone (in cm) is
s Bl B0 oy Foigie i S St it 15 g
Webs P /iy d Us B2 id L sl UKL K2 217216" - KK gy L B0 idl 420
(AW AEF U
Options :

L 16



Question Number : 104 Question Id : 4771877444 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Read the following statements related to subsets of a set.

L bbb 0 10 e e E L

: MCQ Option Shuffling : Yes Display

A) P={x:xisanodd natural number and 9 < x < 15} then the number of subsets

ofsetPis 16.

u'ﬁyf lﬁjiﬁdju"'ﬂ:j"/_/. P ” P={x: 9<x<15ulc Jﬁdfbdnlb x}
B) Q= {x:xisaletterin the word FOLLOW}, then the number of subsets of set Q is

16.

urﬁlﬁﬂﬁtf UTeFL Qe Qefx 9<x<15¢&-J7FFOLLOWLY x}

Choose the correct answer.
2SR

Options :

Both the statements A and B are true.

u;‘:’ffﬂ UrBaslAstl
1. #

Statement A is true and Statement B 1s false.

e BA =l
2. %

Statement A 1s false and Statement B 1s true.

-:-5 Bulksle sEA L
3. ¢ )

Both the statements A and B are false.

. _LhEBqu,inrc_‘_éjﬁ Ul
4, i '



Question Number : 105 Question Id : 4771877445 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
1 1 § oo
The discriminant of the equation— — _2 = 3,(x #0,2)is
X !

1 1
_.;'_j:"ﬁx = U,Z:}:: — E = 3=tsl-

Options :
1. % :

12
2.¢

g
3. % 28

4w 60

Question Number : 106 Question Id : 4771877446 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of odd natural numbers from 1 to 20251s

e s K8 202501

Options :

10,20,100
1. #®

10,22,121

10,24,144
3. %

10,26,169
4.9



Question Number : 107 Question Id : 4771877447 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose an INCORRECT statement from the following related to irrational numbers.
_Z-t'__"’r")/..}'l:f.!zlc J:ui 5&“"";mu""|;,é

Options :

5 *.,-'E — *.,-"E == 3\-"3
1. %

(7+4V3) + —==14

1
(7+4y2)

Question Number : 108 Question Id : 4771877448 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In AXYZ, X =55 and 2Z = 507, then the sides of AXYZ in ascending order of their
lengthsis
UL AU P S e BU L )P UL AXYZ S 27 = 50° 812X = 55° 4 AXYZ 243
Options :
XY, YZ ZX
1. ¢

YZ, ZX, XY
2. %

XY.ZX,. YZ
3. %

ZX,YZ, XY
4. %



Question Number : 109 Question Id : 4771877449 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The median of set of 11 distinct observationsis 13. If each of the largest 5 observations

of the set is increased by 3, then the median of the new set
f&wﬁg:;’ﬁpw‘ujh__a:%gg.; L&IK}J;!4L’:~S;Q,€I;}I-§, 13 2 besbmi gl il 11

K

Options :

1= increased by 3.

B 32063

18 three times of the original set.

Kl Bk f

2. %

remains the same as that of the original set.

» O PN

3

is decreased by 3.

S $3L s



Question Number : 110 Question Id : 4771877450 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ABCD iz a parallelogram with AB = 15 em, BC = 12 em and area of the parallelogram is

90 cm?, then the perpendicular distance (in cm) between its longer sides is
B S & /90 JUE0 S5 mBC = /12 <AB = A 15 JXABCD{ eyl ($ 15
_fﬁ(uﬁ/)ﬁﬁdﬁfuyﬂiu;’w

Options :
| % 1.5
6
2.
5
3 % 12
4, % B

Question Number : 111 Question Id : 4771877451 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A bustravels 42km in 35 minutes. If the speed remains the same, then the distance

(in kilumetersj the bus can travel in 6 hoursis
(Ut 2 ) dolins S L UE K e 51 S L 235 Mol 12 K42 AL
Options :

432
1. v

, % 504

s x 360

300
4. %



Question Number : 112 Question Id : 4771877452 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The volume of a cube iz 216 cm?, then the total surface area of the cube ( in sq.cm) is

KL rE IS S A e 164K

Options :

L 216

144

64

36

Question Number : 113 Question Id : 4771877453 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

An observer of height 1.68 meters is 19.32 meters away from a coconut tree of height 21

meters, then the angle of elevation of the top of the tree from observer's eve is

LUEJL‘J,“@FTJJKML‘?*_@ 83 19.32L;5JJ£-;1JL-A/};:21J5/!&L3‘U€! K4 ~21.68

Options :

L% 30

a

45
2. ¥

60°

90°

_;i:_,?l/i,:ﬂ.i]fh.}_":-c,'yuidf_,d =3



Question Number : 114 Question Id : 4771877454 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If Pisthe set of all prime natural numbers, Q is the set of all even prime natural numbers

and R is the set of all odd prime natural numbers, then choose the correct statement /s

from the following.

?F.:;._*—fgjlﬁldib:ﬁ"JU:-['{;RJJI.:_LJJKJI.AFFJ-‘I?J/&‘:-i?:l'*b'-:Q.-‘:,:zgzlﬁUbe/a”{‘L?Pj!

A) QnNR=0
B) P=QUR
C) Qisasingleton set.

Sk § Jaols Q

Choose the correct answer.

S IRz
Options :
A& Bonly
BuiAS ~
1.
Conly
2. % C-Jﬂ
A& Conly
CJJ*AI\-.-;_/’"
3. %
AB&C

4.9

_ﬁ_::__.f l;'gUEgi—utJ.ﬁ



Question Number : 115 Question Id : 4771877455 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Nature of mathematies reflects the following characteristics

-?JJ{’J@J&P:‘;UEJEJJ;#J{}&EJ

A A Science of abstraction

Bl Y

B. Based on logical reasoning and axioms

& laxioms)e b UG

C. Based on Inductive and deductive reasoning

PN =E1) PR

D. Uncertainty in results
JE o L0
Choose the correct answer

Gk 12b

Options :
A& B only

B.sA_ #

Cé& D only

DsiCos Vad

2. %

A Bé& Conly

CoBA~
3. ¢

D only

4, % cs i



Question Number : 116 Question Id : 4771877456 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a learner draws a figure appropriately as per the general statement of the
theorem, then the above act falls under the following teaching objective of

mathematices.

enlEuS et P lic &bt Qb Lol i i)

e T L S )3
Options :
Knowledge
=
1. ®
Skill
n_“uLg’
2.¢
Understanding

r}

3. %

Application

Il

4, %



Question Number : 117 Question Id : 4771877457 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The changes that occur in the Teaching learning process as per the present

curriculum frame work is/ are

_u_?u_L:EfdijLTu’:demﬂfﬁJ;&Efl.ﬁéJkﬂmﬂf

A. Emphasis on Learner centered Education.
1igf i oM
B. Believes that the knowledge is static and has to be taught only by the teacher.

-;‘_ﬁgkhpﬁ.gf;}i;‘l’"_iﬁ;lm;ﬁigﬁ.J/.:_;L“ u'.'."?‘,:

C. Believes that learner can construct the knowledge and creates the knowledge.

_f,t'fuwb&Lﬂ’”gsl%ﬁgjﬁ*ﬂ‘).ﬁk}fg.rfﬂf

D. Teacher facilitates, encourages and assist the learner to foster active

learning.

-l (UL uﬁi.fr‘:i,}:.».uhj_/@ljji,lv‘fc%;&:}f__eﬁqdﬁi H“"’J lblj""

Choose the correct answer
Z Wl

Options :
A& Bonly

B.siAL ~

A, C& Donly

DJJJC¢A...5/"
2.¢

A, Bé& Conly

C.sBAJ~

3. %



Donly

D_~

Question Number : 118 Question Id : 4771877458 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Following is NOT the characteristic of good mathematics text book.

e S ater? S L P12 G356 LS i

Options :
Content should be organized creating a balance between logical and

psychologieal aspects.

S F6 e L Ui LI E

1. ®

Connecting mathematical concepts to real world applications.

csze e $Lal® fetnd 3o

2. %

Well graded exercises.

e

3. %

Ovwver reliance on abstract language

SN s s P NS a f
4.9



Question Number : 119 Question Id : 4771877459 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following assessment tool 1s NOT considered as a part of formative assessment.

Y 4 JHELS Lt pine

Options :
Portfolio
!-J.J’ Loy
1. % ’
Projects
(E0L
2. %
Assignments
k¥ 71
3. %

Semester Examination

Ol 2 el
4. ¢



Question Number : 120 Question Id : 4771877460 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The unit plan in the mathematics subject helps the teacher

—ethud eyt L

A. To get an overview of the contents in the unit.

VORI o M S 1 ST SV,

B. To know the requirement of periods to complete the unit.

AP hp Ksd L JE Snsy

(. Gives an idea which unit has to be dealt in which month.

ufi.;(?li'a}lﬂ?_ E?"U/J;u: ;d‘fpﬁf!rﬁfu;

D. To transact the lesson for a specific day
L L by unss S
Choose the correct answer

S _EK12E
Options :
A& Bonly

BalA:~
1.¢

C & Donly

DJJIC....-:/"

A B& Conly
CBA ~



A, C& Donly

, & DACAS/

Science
Section Id : 477187236
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187376
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 4771877461 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement among the following.
_‘E::#L:Ju% Ly P u’fl_,t N
Options :

The force of buoyancy is the reason for an immersed body to appear light.

_;:._l:'ﬁgf)";ﬁflrr‘)'lﬁl.:ﬁuﬁ[_}l.éc.gﬁdfdlﬂfi;;

1.
Relative density has units to measure.

-ugéﬁugﬂf;{h‘,ﬁjui;éﬁ

Heavier body floats.

-2 il

Hydraulie jack is an application of Bernoulli's prineiple.

e LM ALK 1 Z S



Question Number : 122 Question Id : 4771877462 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the ‘correct guantum number set’ for the outer most electron in Na
sl poncoss & LN it fonpl
2SO T MY L T H_.c,,'l/-ullc,_':;u:,g Na
Options :

n=3,1=0m; =0,m, zé

1. ¢
1
n=21L=1m =—=1m, =
2. %
1
n=2.1=1m; = 1.m, =g
3. %
1
n=3,l=1m; =0,m, =



Question Number : 123 Question Id : 4771877463 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A FALSE statement about refraction of light 18

& u,'_lz;hlﬁ_.gl,:&h/r_'-;;_ﬂkﬁl
Options :

Veloeity of light 18 more in rarer medium.

_?dﬁu_l:.bt’}u{;;g:ﬁb-%y

1. %
Angle of incidence / refraction more in rarer medium.
_q_t':fu'L..}._jﬂzzjlff_,ﬂ’;,:J!}uﬂ Eols ik
2. %
Velocity of light is less in denser medium.
_;_.d!c'fJ JUJJJ.!;JEHJ_;(
3.8 ‘

Angle of incidence/ refraction is less in rarer medium.

-;..t'ﬁfr S F s st Lol

4.



Question Number : 124 Question Id : 4771877464 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The true statement from the following.
—e e u::_)_’;_f-"

Options :

The loudness of normal conversation 1s about 20dB.

e 3s20aBS SIS o

1. #
The shrillness of sound is amplitude.
_.:_',jb'ﬂji,lzf‘U{J@ L{JF}T
2. %
Vocal cords close when we speak.
_?dtgﬁjwid.r‘;ugl.f:f;ﬂ,e
3. ¢

Sound can travel in vacuum.

e S



Question Number : 125 Question Id : 4771877465 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
VSEPR Theory mainly fails to explain

bbbt ealosS U, £ VSEPR

Options :

Space occupied by electron pair

ﬂéﬁéiajsé,;;m;ﬂ]

1. #®

Bond angle

KL

Strength of bond

=54
3.

Molecular shape

- B Leth e



Question Number : 126 Question Id : 4771877466 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The force of attraction between any two universal objects 1s INDEPENDENT of
2 lﬁuﬁ/ﬂffvu’luw/:juynf.w&ET}:LH/

Options :

Distance between objects

&b nd L2
1. %
Mass of objects
Zed Sl !
2. %
Universal Gravitation constant
L7 8T
3. %

Orientation of objects

rr_’.{ﬂrientatizm )f/;’. Jf s L,":;L-"tl
4.



Question Number : 127 Question Id : 4771877467 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A 60W bulb consumes “x"J of energy when connected to an electric source of
120V. The amount of energy consumed by the same bulb when connected to

source of 240V 1s
5,{ 5.24{}'\('3(__1_ u'lffi-q. F/J/JL‘!?JE“I‘,;LLZ;. i&’.‘}",fi IZOV__J:Kﬁ{}W...Q

Y- AL Sy AR EIRRT]

Options :
2x+
1. %
X
Et]
2. %
4xJ
3. ¢
x %]

4.%



Question Number : 128 Question Id : 4771877468 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A coin 18 kept under a glass slab of refractive index 1.52. It appears to be shifted

vertically by 0.7em. Then the thickness of the glassslabis

22 TP 0. Tnshsf WS L LE Lo L 22 L 1V ik 1.52

Options :
2.0cm
£2

1. ¢
1.5ecm
1.5

2. &

2.5¢cm
<25

3. %

1.0ecm

< 1.0

4.%

S lerde sl



Question Number : 129 Question Id : 4771877469 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.
s
Set | Set IT
A) Nylon i) Wrinkle free
s " & )
Pt U
B) Rayon 11) Dhiapers
O], VA
C) Acrylic i) Fishing net
0 A Jbo S % dé
D:l Polyester iv) Carpet

/-'JL ,;,éﬁ'

Choose the correct answer:
LS KN

Options :

A-ii, B-11, C-1v, D-1
1.

A-iii, B-11, C-1, D-iv
2. %

A-ii, B-iv, C-1, D-11

A-11, B-1, C-1v, D-1i1
4, %



Question Number : 130 Question Id : 4771877470 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The true statement among the following

_é:ﬁ?wjdﬂb S Sl J:;_,t g

Options :
Smelting carried out in Reverberatory furnace.
-l 1~ %3 %UW ¥Smelting

1. ®

Roasting carried out in absence of air.

—e bl Loz AP 72

2. %
Ca0 1s obtained by adopting Calcination.
et A Ca0 2 5L S5
3. ¢

Distillation is a method of purification of high boiling metals.

-?-W.WL‘:"%-LW? dfu;’wdbuf'ﬁﬁﬂifa@)uéff

4. %



Question Number : 131 Question Id : 4771877471 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The substance, which is NOT treated as an electric conductor among the following

_?;Eigdlﬁ;;fvwf‘j{ugﬁg”&.u’:djwj

Options :
Mercury
bk

ko

1. #

Bismuth
il

2.

Graphite
L
-."-:U’./I

3. %

Sodium

iy



Question Number : 132 Question Id : 4771877472 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The coefficient of O, in the balanced chemical equation of burning Propane

- L"r._.f/’Lf:JFKOq U ._J}L—ﬂ'gLf GalF o JV’»’_-(Pmpane)u 21

Options :
1. % b
5
2.¢
3
3. %
4, % :

Question Number : 133 Question Id : 4771877473 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In plants, this part of a flower develops into a fruit after fertilization
—etenty LIl Susd i KA S U2

Options :

Embrvo

1. ®
Embrvo Sac
2. %
Ovary
S
3. ¢
Ovule
Ly



Question Number : 134 Question Id : 4771877474 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the cell organelles that are found in both Prokaryotic and Eukaryotie

cells

-?.E'!TJJ?!‘L):L,,'J’.'PL,,'.!;}J::'J}&:-pj}i&'ﬁg?’ﬁé@ﬁ@J@#dﬁuq

Options :
Ribosomes
u”,j}f I

1.
Mitochondria
LJi‘g;’{ L

2. %
Plastids
Ukl

3. %

Endoplasmic Reticulum

Jﬂgaiu»:

4, %



Question Number : 135 Question Id : 4771877475 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fixed joints are present in this part of human body
Ul snr g Sobiind F 4
Options :
Pectoral girdle

JM'—::"
1. %

Pelvic girdle

=
20k

2. ®
Skull

373

Backbone

.
Sal oy



Question Number : 136 Question Id : 4771877476 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following sentences and identify the correct answer
. - i
REAT YR RIS VS S
A) The plants with tap root system have leaves with parallel venation
e Qe LURL e el BT sy
B) The plants with fibrous roots have leaves with reticulate venation
—e Qe d S A U e Wbl ABEZ s 2t P g

Options :

‘Sentence — A’ 1s correct, ‘Sentence — B’ isincorrect

_.fi_‘..lev’ BMH’T'_. o AN

1. %

‘Sentence — A’ 1s incorrect, ‘Sentence — B’ 1s correct

-y B bl A A2

2. %

Both the sentences are correct

D Y ABL LT
3.8

Both the sentences are incorrect

BB EE sy
4.«



Question Number : 137 Question Id : 4771877477 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identifv the process of ecutting the Woolen fleece of a sheep from the following
_.;_,m,-.-umf L-J;lf_(:' L LS E 50 *fu"ufufi*&ﬂ

Options :

Scouring

_f’.a, |

1.
Shearing
b=
2.¢
Stifling
L
3. %

Sorting

‘.f':.;.!"



Question Number : 138 Question Id : 4771877478 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the plant that stores food materials in stem

_f;,tr/@ 2 Uiz Ja'a__,-!ﬁff"_fnﬁi‘f—'i JLJ{J’

Options :
Potato
N
1. ¢
Sweet potato
Jts
2. %
Carrot

¥

Raddish

s



Question Number : 139 Question Id : 4771877479 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the phyla that are known for having an open circulatory system.

et B PR s Kl
A)  Annelida

i
B) Arthropoda

54s T
C} Mollusca

£
D) Echinodermata

Lgﬁ:«fﬁ

Choose the correct answer:

B R
Options :
A& Bonly
BosA_:~
1. %
B & Conly
CJ}'B-.-;/'F
2.
A& Donly
DAL~
3. %
A B& Donly
D.sB:A_ ~#



Question Number : 140 Question Id : 4771877480 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Diatom’isa/an

*/
&
_d:.g,-rr‘ﬂ I3

I -

Options :
Protozoan
Tr,
Los AW
], % &
Fungus
2. % =
Bacterium
Ak
-
3.8
Alga

4.



Question Number : 141 Question Id : 4771877481 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the hormone that is secreted in both male and female humans

-.;_,L‘F!f,J!/;U.fL}:?.uu;;f,aslu;:/ﬁéﬁ,ﬁt‘iJwy‘ﬂ,J!
Options :

Follicle stimulating hormone

U h L v f S
1.

Testosterone

I
L G

Oestrogen

Fr

Progesteron

a2y

4. %



Question Number : 142 Question Id : 4771877482 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following gas in the normal atmosphere is in much smaller

quantities?

e dedy i S it Sz S St
Options :

Ar
1. #®

0,
2. %

Co,
3.



Question Number : 143 Question Id : 4771877483 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following animal is listed in ‘endangered list'?
- SSeUt e J“ﬁ'fi;igﬁjc.a.ﬁ”é -‘{.,J;?LJ!(BJE;-JJUF:J_E

Options :

Asiatic lion

el
1.

Kangaroo

A
v

2. ®
Desert fox
oI
Sy et
3. %
Pigeon
“
S



Question Number : 144 Question Id : 4771877484 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tracheal Respiratory system is present in this organism

f_ﬁekgrwi‘f” G U

Options :
Fish
1. % :
Frog
Sk
2. %
Earthworm
3. % ”f':

Cockroach

)=t

4.



Question Number : 145 Question Id : 4771877485 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rawi, a Physical Science teacher, applied alcohol on a student’s hand and asked him
to observe and describe the sensation. He repeated the process with spirit and
petrol. The student reported a cooling effect each time. Based on this, identify what

teaching method the teacher is using.
WL Lo Seolosb ot aiii b I AL F Mo P Lie6s
L;*‘”gel’:.J'-JJ/JﬁLH‘.__Ji.b,::/ﬁckl,f;ftfﬁdf,{lxleJ/%;JleLJr

eSS RIS Fes SN 25

Options :
Deductive method

x BPCF

1.

Inductive method

A0
2. W

Lecture method

Heuristic method

3 A0



Question Number : 146 Question Id : 4771877486 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following learning experiences 1s NOT categorised in Edgar Dale’s cone

of experience?

-ﬁ?ﬁk@ﬂdb}ﬁ;&fdmé J‘_i.fiﬁi :r,jdeLufJ:J

Options :

IDirect purposeful experience

;L};ﬁz"i.:.fu
1. ®

Contrived experience

ol £ b/ (S 52

Dramatized experience

&

3. %

Viecarious experience

:.—L:jd,alﬁfrl;*l}l?
4. ¢



Question Number : 147 Question Id : 4771877487 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a laboratory experiment, a student accidentally splashes sodium

hydroxide solution into his eve. As a science teacher, which of the following would

you choose to wash the eve as the most appropriate first-aid treatment for thiseye

injury?

;-;?-ﬂi-bii.&"fi A e a{w/fw o Lighn L 1256 7 L
_Z.uf:"’::.JITT[;TJE:'LJJFL/?U)JW;&JII&f_'.wi:-‘..{f‘)'"iu’rb

Options :
Weak sodium hicarbonate solution
JH# €y KOs

1. %

Strong sodium bicarbonate solution

JE ¥y KA P

2. %

1% boric acid solution

IS 1%
3.¢

1% hydrochloric acid solution

JEC22 05 1%

4. %



Question Number : 148 Question Id : 4771877488 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT indicative of the hypothesizing skill?
_.»‘;,Ui?aJLilK:s;Lg;(L./‘fﬁ' ,.Jﬂ,-/i‘\..gi,:fd;dfij
Options :
Formulating questions which lead to inquiry

;ﬁg(;ﬁﬁfﬁﬁ Sty

1. %
Using the senses to gather information
Je 19D L3S i

2. ¢
Identifying variables for an experiment
Sl L Lo Fs”

3. %

Attempting to explain observations or relationships in terms of some

principles

ST St U e ET et yee



Question Number : 149 Question Id : 4771877489 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following would be the most suitable strategy to introduce the topic

‘Communicable Diseases’ at upper primary level?
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Options :

Provide a definition of Communicable Diseases and introduce the concept by

lecturing.
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Arrange for a doctor’s preseription pertaining to a communicable disease and

hold a discussion around it.
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Hold a discussion on various communicable diseases, preventive measures to

avold their spread and their cure.
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3. ¢

Showing short duration video clippings of various communicable diseases,

measures to prevent and avoid their spread.
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Question Number : 150 Question Id : 4771877490 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from the following.

_ébﬁjlﬁ"bfnpen—ended question uiJ:_JE/JJ

Options :
Humans ean digest cellulose. Yes,/No
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1. %
What are bones made of?
1. Collagen and Calcium phosphate
2. Calcium and Sponge
3. Sponge
4. Calcium and Ferrous sulphate
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2. %

What would happen if humans could fly like birds?
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On a scale of 1 to 5 points, how likely are you to recommend Biology as a

subject of study after 10'* class?
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